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: Quiz 8

This is a two-stage quiz. During the first stage, use your knowledge & calculator. You have
15 min. In the second stage, you are now welcome to use your books, notes, and students
in the class to retake the same quiz. You have the remainder of the quiz time to write one
solution (with everyone’s name on it!!!) to be turned in for the group.
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Show all your work. Reasonable supporting work
must be shown for any partial credit.
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3. Consider a sports team that plays in a stadium' that holds 54,000 spectafors—With

\;,\\ ticket prices at $10, the average attendance has been 5,000. When ticket prices were
\}p\\ lowered to $8, the average attendance rose to 15,000. '

ﬂo’\ V’XO (a) [3] Define variables and find a function relating the attendance to the price of
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